Math 001-42, Quiz3 (1.1,1.2and 1.4), Term 161 , Instructor: Sayed Omar, Page1l 06-Nov-16
Serial #: ID NAME
Show all necessary steps for full marks.

Question 1: (3 points): Find the solution set of —8(3x +4) +6x =4(x —8) + 4x
Solution:
24, —8(3x+4)+6x=4(x—8)+4x

—24x—-32+6x=4x—-32+4x

—18x—32=8x-32
~32=26x—32
0=260=0=ux
Solution set: {D}

Question 2: (3 points):  If the equation %(x +2)—g(x +2)=mX —g is an identity then

find the value of m .

Solution:

9 15 6
—X+2)——X+2)=mXx ——
10( ) 10( ) 5

3 6
——(X+2)=mx ——=

5( ) 5

3. 6 6 3
——X—==MX-= = |M=-=
5 5 5 5

Question 3: (4 points): Solve (3x +2)(x —1)=3x
Solution: 3x?—-x —2=23x

3x* —4x-2=0
Let a=3,b=—4 and c=-2. 4416424 4+J40
2 6 6
_h+ — Ay
x=202 j’ dac 422410 22410
(4}+ﬂ(~ﬂ2 4(3)(=2) e
AV S =V — 4 (3) (=2
= ~ Solution set: {Ei“'ﬁ}
2(3) ;
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Question 4: (5 points): If the length of each side of the original square is decreased by 4
inches, the perimeter of the new square is 10 inches more than half the perimeter of the
original square. What are the dimensions of the original square?

Solution: | =Length of the original rectangle in inches

-4

| | -4

Side is decreased 4

Original square
Phew =10+ E I:)original
A(1 - 4) =10+%(4|)

4] -16=10+2I
21 =
| =13 inches

The original square is 13 by 13 inches.

Question 5: (5 points): Write the equation 4x > —3x —10=0 by completing the square in the
form (x —m)2 =n. Thenfind m+n="?

Solution:

x° —%I—Tﬂ (0
¥’ —%A'—% ()
v’ —%x+% =34

( LR e =Y
(-‘f‘a) =
3,169 3(8) , 169 _24+169 193
8" 64 - 8(8) 64 64 64

m+n=
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